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Secfion A (10 x 1 mark)

Question 1 to 10 carry 1 mark each.

For each question, four options are given.
One of them is the correct answer.

Make your choice {1, 2, 3 or 4) and write if in the brackets provided.

1. | Which oné of the following numbers come just before 70 ?

(1) 68
(2) 69
@ 71

(4 - 72 O



2 tens 8 ones =

(1} 20
(2) 28
(3) 80
(4) 82

18 \
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© The stands for
(1 1

2 17

(3) 19

4 27



38 +21 =
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2) 49
(3) 57
“4) 59

10 less than 64 is

(1) 54

(2) 55
@B 63

4) 74
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There are more bananas than apples.
(1) 10

(2) 20

(3} 3

(4 4
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How many snails are there 2

(1) 2 groups of 2
(2) 10 groups of 2
(3) 5 groups of 2
(4) S groups of 5
8. There are 6 bats. I put 2 bats in a cage.
I need cages.
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Q. What is the time shown on ‘fhe‘ clbck ?
(1) one o' clock
(2) six o' clock

{(3) half past five

(4}  half past twelve

10.

(3)

(4)




Section B

11.  Count and write the numbet.in the box. (1 mark]

12. Draw more A “to show the number in the box. {1 mark)
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13.  Tick the set with the greater number. (1 mark)
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14.  Wrife the number in words. (1 mark)

45

15.  Colour the 5 bdll from the right. {1 mark)
OOODOODOD

16. Use the numbers below and write the smallest 2-digit number.

(2 marks)
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The smallest 2-digit number is

17.  Amrange the numbers in order.

Begin with the greatest number. (2 marks)
@ M

greatest




18.  Colour the tens and ones to show the number bond. (2 marks)
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19. Write an addition sentence using the given numbers. {2 marks)

19

35

16

20. Complete the subfraction sentence. (2 marks)
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21.  Maich the comrect amount.of money. 2x 1 mark)

(b) $2 ® &

22.  Use the picture below and answer part (a} and (b}. (2 x 1 mark)

Each stands for 1 unit.

{a) The pencilis ____unitslong.

(b) The bookmark is _____unifs longer than the sharpener.



The picture graph below shows The favourite colours of a aroup of

children. _ Study the graph carefully and answer Questions 23 cnd 24,

(2 x 2 marks)

Qur Favourite Colours
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Red Orange | Yellow
Each stands for 1 child.
23. ‘more children like red than yellow.

24. The same number of children like the colours green,

aiata!



25. Write a muttiplication sentence about the picture. (2 marks }

1

¢
i

26.  In the box below, draw 3 groups of 4 apples. (2 marks |

Write a mulfiplication sentence for the picture you have drawn.

X
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27.  Circle the seashells below to show:3 equal groups. {2 marks )
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There are _seashells in each group.

28.  Look at the clock below and answer the question. (2 marks)

Alice started baking her cake at 12 o' clock.
She took one hour to bake the cake.

She finished baking af .. 0o'clock.

29.  Fllin the missing numbers in the boxes. (2 marks )

1 0 O
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30. Colour 3 coins to make $2. (2 marks )
j;\ @ @ .

31.  Jack bought 2 toys. He spent 3 five-dollar notes.

Circle the toys which he bought. (2 marks )

32. Look at the paitern. Draw fo complete Picture 4. {2 marks)

Picture 1 Picture 2 Picture 3 Picture 4

[Be 3
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33. Refer to the picture below. (2 marks)

Broceoli

Each O stands for 1 unit.

‘The mass of the fish and broccoli s . _units.

34.  Whatis the missing numberin the box ? {2 marks)

Yo =5
Yt C =9
C

[

35.  Solve the following sum. (2 marks)

There is a tofal of 4 dogs and birds.

They have 10 legs in all.

How many birds are there 7

There are .. birds.

Fnc ~7 Domar 1
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Name : - ( ) Date: 28 October 2010

Class : Primary 1 } lime: 4.00 p.m. to 5.00 p.m.
Marks /25

Read the story suths carefully and solve them.

Write down the number séntences and answers.

Questions 1 to 5 carry 2 marks each.  Questions 6 to 10 carry 3 marks each.

1. Alice ate 5 buns. Belle ate 3 buns and Charene ate
2 buns. How many buns did they eat difbgéq;pér

OCIOIC

The girls ate . _buns alfogether.

¥

2. Ken has 39 erasers. He gives 12 erasers to his brother.

How many erasers has he left 2

®

Ken has ; erasers left.

Il
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A florist sold 11 roses in the mo'rning.
‘She sold 27 roses.in the afferncon.

How many roses did she seji‘;‘jdlfogefher' ?

LJOL-]

She sold . roses altogether.

Ali has 20 lollipops. He shares his lollipops equally

with 4 friends. Circle the lollipops to show your answer.

Each child gefs ' . lollipops.

Mother used 3 apples fo make one apple pie.

- How many pies can she make with 9 apples 7

Complete the table below.

Apples 3 6 |- 9

Pies 1

Mother can make __, __apple pies. |




There are some stamps in an album.
Mabel puts 24 more stamps in it.
There are 60 stamps in the album now.

How many stamps are there in the album at first 2

v
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There are stamps in the album af first.

Danny weighs 55 kg. He weighs 7 kg less than Carl.

What is the mass of Carl?

| ‘ ' 7kg
Danny 55 kg //\
Carl
{ )
Carl weighs —_kg.
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8. There are 7 bags. Each bag contains 3 goldfish.
- How many goldfish are there altogether 2
3 goldiish
There are goldfish alfogether.
9. There are 42 girls and 39 boys at the stadium.

17 children are wearing caps.

How many children are not wearing caps ?
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_children are not wearing caps.
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Jack wanits fo buy the 2 stuff toys.

How much money will he save if he shows his student pass?

LYO & MERLY
$29 cach

Student Price : 2 for $50

s |o=3
A
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He will save §

End of Paper 2






Answer
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EXAM PAPER 2010

SCHOOL : TAO NAN PRIMARY
SUBJECT : PRIMARY 1 MATHEMATICS

TERM : SA2

QL1 Q2163 | Q41 Q5| Q6| Q7 | Q8 | Q9 | Q10

2 2 4 4 1 4 3 3 4 1

11) 44 12) draw 6 more A 13) tick the dolls (not the cars)
14) forty-five

2 OO0 OO

16) 15 17)41,32,23,14 18} colour 6 tens and 2 ones
19) 19416 = 35 20) 22-5 =17

21a) $1 > 1 fifty-cents, 2 twenty-cents and 1 ten-cents

21b) $2 > 4 fifty-cents 22a) 8 22bh) 2
23)2 24) purple and orange  25)4 x4 =16 26)3x4 =12
27} 5 28) 1 29) 2,2

30) colour one $1 and 2 fifty-cents
31) Circle the toys that cost $3 and $12

32) Picture 4

Page L


Answer Key


33) 15 34) 1 35) 3

Paper 2

1)543+2 = 10

3)11 + 27 = 39

Each child gets 4 lollipops.

5) 6)
Apples 3 6 9 I 34 24
pies 1 2 3 . - 60 —»
Mother can make 3 apple pies. 60— 24 = 36
7)55+7 =62 8)7x3 =21
9)42 + 39 =81 10) $29 + $29 = $58
81-17 =64 $58 - $50 = $8
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